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  Name:                                                 My Math Homework     Number: 

Monday Tuesday Wednesday Thursday 
Find the Greatest Common 

Factor of 12 and 24. 

 

Find the Greatest Common 
Factor of 16 and 28. 

 

Find the Greatest Common 
Factor of 10 and 8. 

 
 

Find the Greatest Common 
Factor of 18 and 36. 

 

Find the product. 

6.9 x .35=   

Find the product. 

8.6 x 2.9=  

Find the product. 

80.2 x .05=  

Find the product. 

2.5 x .08=   
 

Simplify the fraction. 

14

12           

 
Change the improper 
fraction to a mixed number. 

7

20       

 

Simplify the fraction. 

30

6           

 
Change the improper 
fraction to a mixed number. 

3

10         

Simplify the fraction. 

20

10          

 
Change the improper 
fraction to a mixed number. 

7

30          

Simplify the fraction. 

24

16         

 
Change the improper 
fraction to a mixed number. 

4

15         

Find the quotient. 

               
     7 ) 0.21581 

 

Find the quotient. 

          
  12 )  24.12 

 

Find the quotient. 

                          
       5 ) 0.15 

 

Find the quotient. 

                     
      3 )  6.12 

 

Compare using  >, <, =. 
 

1.24  ______  2.14 
 

6

3  ______ 
3

1
 

Compare Using  >, <, =. 
 

8.33  _____ 8.03 
 

15

11
  ______  

10

9
 

Compare using  >, <, =. 
 

12.05 ______ 12.5 
 

  
7

3
 ______ 

8

6
 

 

Compare using  >, <, =. 
 

5.334 ______  5.33 
 

6

5
  ______  

12

8
 

Find the sum. 

4

3  + 
8

5  =  

 
 

Find the difference. 

5

4  - 
10

5  =  

 

Find the sum. 

6

2  + 
2

1  =  

 
 

Find the difference. 

3

1
2  - 

6

5
1 =  

 

 

Find the sum. 

4

1   +  
5

1 =  

 

4

2  +  
2

1 =  

 

Find the difference. 

6

5  –- 
12

7 =  

 

10

8  – 
8

1 =  

Find the sum. 

5

4
2   +  

9

3
1 =   

 
 

7

3
1   +  

6

2
2 =  

 

Find the difference. 

12

10
5  – 

8

7
4 =  

 

10

3
4  – 

6

5
2 =  


